College Algebra — Joysheet 6 Name: m 0 :
MAT 140, Fall 2016 — D. Ivangié Covers: 8.1, 3.2, 3.3 Show all your work!

Simplify, so that the answer is in form a + bi. N
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4. (8pts) The number of crates of apples in storage of an apple grower is described by the
function C(x) = —z° + 45z + 16, where r is the number n::f days after September 1st. On

what dates did the apple grower have 390 crates in
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5. (8pts) Solve the equation: 3z* — Tz* — 2

+,}2§q 417 24 |
=W =0 | = 74 65780 ) s =57

"LL
Ei)— 3 ‘ £ G € 6
W= X il . ~_§
"-})Lt'}_'_ 7[‘.”}20 2@ I'L"- 4; E ){14 ?f"“ ]
() 2 /@)=439 =22 st :f‘f?

L= 2
6. (6pts) Solve by mt;pleting the square. '
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7. (12pts) The quadratic function f(z) = —2z* + 5z — 4 is given. Do the following without

using the calculator.
a) Find the z-intercepts of its graph, if any. Find the y-intercept.
b) Find the vertex of the graph.

c¢) Sketch the graph of the function.
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8. (12pts) Donald’s house sits on a big rectzmgular plot 2 land that is 150 by 70 yards.
He wishes to enlarge it to get a rectangular plot with area 20,000 square yards by extending
the 150-yard side by a certain amount and increasing the 70-vard side by twice that amount.
By how much should the 150- and 70-yard sides be extended to achieve the desired area?
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